
6 - Red Light – Green Light
An argument could be made for the claim that drivers prefer red lights to green lights.  Notice how a driver coming up to a red light will come to a stop and watch and watch that pretty red light.  However, as soon as the light turns green, the driver quickly hurries away, apparently hoping to find another red light further on down the road!

Assuming this claim is actually false, we want to calculate a maximum constant speed at which a driver can proceed from a given starting point and make his way through a sequence of only green lights.

Input:

The first line of input contains a positive integer designating the number of cases.  Each subsequent line represents one of the cases.  The first integer in a case indicates the number of lights on the route (at most 8).  Specifications for each light follow in order of distance from the start.  For each light there are 4 integer values:

1. The distance in meters to the light from the starting point
2. How many seconds the green light lasts

3. How many seconds the red light lasts

4. How many seconds before the light turns green for the first time following the beginning of the drive.  If the light is initially green, then it is how many seconds until it turns green again.
Output:

For each case print the fastest possible legal speed in km per hour (nearest integer) at which the driver can make the trip with all green lights.  Assume the instantaneous moment of a color change is considered green.  Also note that there is a 120 km per hr speed limit. If it is not possible at any legal speed, indicate with 0 km per hour.   Number each case as in the example.

Sample Input:

2
3     1000  30  40  30      2000  15  15   30      2500  25  55  20

1      41  30  40  41

Sample Output:

1.  80 km/hr
2.  4 km/hr


